Simplifying Expressions

Name: Score:

Simplify the following expressions.

2y+5y-3y2-y 5g+4g2-3g2-2g2 5.X +2x -X
2b2+y-5y+b2 2-mn-2-2mn 5%+ x + 3% - 2x
a-2ab+3-ab ¢ +2+c-2¢ 3d-2d°+d+4d
t+3t-t 3x'-7+6 543%x -X

3K -k + 3k -k A T 5+h+2h’-h’
3x-4+x + 3% 2b+3b - 4b +4b 3y3+4y2-y3—y2
d-5+2d-9 VH3IV+Y -2y 2+3av+4-3a
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Answers

Simplify the following expressions.

2y + 5y -3y -y

3y + 6y

2b2+y-5y-|—b2

3b’ - 4y

a-2ab+3-ab
-3ab+a+3

t+ 3t -t
2

3t

2

3K -k +3k -k
2k2 + 2k

3X—4+X+3X2
3X +4x - 4

-d-5+2d-9
d-14

copyright:

Sg+4g -3g -2g
-§+5g

2-mn-2-2mn

-3mn

2 2

c +2+c-2¢
2

-c +t¢c+2

3x -7 +6
3X2-1

2 2
r -5r+5r+r
2

2r

2b+3b - 4b° + 4b
b+ 6b

3 2
v+3v+v -2v

3 2
vV TtV +vV
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2 2
5-x +2x -X

2
X -X+5

5X2+ X + 3x - 2Xx
5X2+2X

3d-2d°+d+4d
547+ 5d

5+3X2-X2
2% +5

54+h+2h-h
h+h+5

3 2 3 2
3y +4y -y -y
2y3 n 3y2

2+3av+4—3a
3av-3a+6



